

Prog	gress Estimate Number	Contract ID	191213-C02		Pay Per Start		June 16 2020	^{6,} Original C	Contract Amo	unt\$1,7	64,374.95	
	7	Prime Contractor	Don Schnieders Exca Inc.	Don Schnieders Excavating Company, Pay P			eriod End ^{June} 30, 2020		Net Change Order Amount Current Contract Amount \$1,7			
Approval Da	te									Ву	User	
July 1, 2020			Generated and	Generated and Approved (and should be considered Draft) at the Project Office Level by								
July 1, 2020			Reviewed and Appr	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by								
July 2, 2020				Reviewed and Approved at the Central Office Controllers Office Level by								
Original C	ompletion Date	Curren	t Completion Date	Completion Date Actual Completion Date				% of Current Co	ntract Amour	t Comp	lete	
Decen	nber 1, 2020	De	cember 1, 2020						43.79%			
Cont	tract Information	al Dates		Milestones								
Date Description	Original Completion Date	Current Completion Date	Date	Date Description		Original Completion Date		Current Completion Date	Days Remaining on Milestone		Diary Charge Days	
Acceptance Date			J3P3092, JSP B 3. Contract Administra		iges for	June 26, 2020		June 26, 2020	Miles Com			
Awarded Date	January 9, 2020	January 9, 2020	JSP B 2.1, Calenda	ar Days		June 26,	2020	June 26, 2020	Miles Com			
Letting Date	December 13, 2019	December 13, 2019										
Notice to Proceed Date	February 10, 2020	February 10, 2020										
Open to Traffic Date												
Work Began Date												

Contract Total Pay Fo	or Estimate No. 7				
		This Estimate	Previous	To Date	
191213-C02					
	Total Posted Items Pay	\$155,533.85	\$617,150.65	\$772,684.50	
	Gross Item Adjustments	(\$16,094.51)	\$176,701.85	\$160,607.34	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$793,852.50	\$933,291.84	
Contract Total Payab	le This Estimate:	\$139,439,34			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3P3092	0010	2013000	CLEARING AND GRUBBING	ACRE	\$1,160.000	1	\$1,160.00
	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$13,225.000	0.2	\$2,645.00
	0030	2031000	CLASS A EXCAVATION	CUYD	\$9.150	749	\$6,853.35
	0040	2036000	COMPACTING EMBANKMENT	CUYD	\$6.000	331	\$1,986.00
	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	100F	\$340.000	4	\$1,360.00
	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$8.800	1,036	\$9,116.80
	0070	4019905	MISC.OPTIONAL PAVEMENT	SQYD	\$72.000	1,036.3	\$74,613.60
	0080	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$48.200	178	\$8,579.60
	0090	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$16.500	178	\$2,937.00
	0180	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.080	1,000	\$80.00
	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.080	625	\$50.00



F	Progress 7	Estimate Number	Contract ID Prime Contractor	191213-C02 Don Schnieders Excavating Company, Inc.	Pay Period Start Pay Period End	June 16, 2020 June 30, 2020	Net Change (Amount	Order	t\$1,764,374.95 \$0.00 t\$1,764,374.95
Project Number	Line Number	Item Code		Item Description		Unit	Unit Price	Current Installed Qty	Current Installed Amount
J3P3092	0220	8051000A	SEEDING - CO	OOL SEASON MIXTURES		ACRE	\$8,000.000	0.32	\$2,560.00
	0280	6061060	MGS GUARD	RAIL		LF	\$19.500	75	\$1,462.50
	0290	6061069	MGS BRIDGE	APPROACH TRANSITION SECTION (RE	B) EA	\$2,750.000	4	\$11,000.00	
	0300	6063014	TYPE A CRAS	HWORTHY END TERMINAL (MASH)		EA	\$2,750.000	4	\$11,000.00
	0310	9039902	MISC.REMOV	ING AND REPLACING OF EXISTING SIG	N ASSEMBLIES	EA	\$550.000	2	\$1,100.00
	0340	5031011A	BRIDGE APP	ROACH SLAB (MINOR ROAD)		SQYD	\$90.000	127	\$11,430.00
Project J	<mark>3P3092 -</mark> 1	Fotal							\$147,933.85
J3S3091	0620	6161098A		E MESSAGE SIGN WITHOUT COMMUNIC R FURNISHED, CONTRACTOR RETAINE		CE, EA	\$3,800.000	2	\$7,600.00
Project J	3 <mark>S3091</mark> - 1	Fotal							\$7,600.00
Overall -	Total								\$155,533.85

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3092	0040	COMPACTING EMBANKMENT	Material			-331	\$6.00	(\$1,986.00)
	0040	COMPACTING EMBANKMENT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user simst overridding Payment Estimate Exception 1 on the current Payment Estimate.	331	\$6.00	\$1,986.00
	0050	SUBGRADE COMPACTION (6-INCH DEPTH)	Material			-4	\$340.00	(\$1,360.00)
	0050	SUBGRADE COMPACTION (6-INCH DEPTH)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) due to user simst overridding Payment Estimate Exception 2 on the current Payment Estimate.	4	\$340.00	\$1,360.00
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material			-1,036	\$8.80	(\$9,116.80)
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user simst overridding Payment Estimate Exception 3 on the current Payment Estimate.	1,036	\$8.80	\$9,116.80
	0070	MISC.	Other Item Adjustment	Fuel Price	3.32x-1.02x569.9=\$-1929.91			(\$1,929.91)
	0070	MISC.	Other Item Adjustment	Asphalt Cement Price Adjustment	BB20-13 = -56.25x470.2x3.2%=\$-846.40 BP20-39 = -56.25x99.74x3.8%=\$-213.20			(\$1,059.60)
	0080	FURNISHING TYPE 2 ROCK BLANKET	Material			-178	\$48.20	(\$8,579.60)
C	0080	FURNISHING TYPE 2 ROCK BLANKET	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user simst overridding Payment Estimate Exception 13 on the current Payment Estimate.	178	\$48.20	\$8,579.60
	0180	4 IN. WHITE STANDARD WATERBORNE PAVEMENT	Material			-1,000	\$0.08	(\$80.00)



	Progre 7	ess Estimate Number	Contract ID Prime Contractor	191213-C02 Don Schniec Inc.	lers Excavatir	ng Company, Pay Period End 2020	let Change O Amount	rder	\$1,764,374.95 \$0.00 \$1,764,374.95
Project Number	Line No.	Item D	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J3P3092		MARKING	PAINT, TYPE P BEADS						
	0180	WATERBOR	ITE STANDARD INE PAVEMENT PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user simst overridding Payment Estimate Exception 14 on the current Payment Estimate.	1,000	\$0.08	\$80.00
	0190	WATERBOR	OW STANDARD NE PAVEMENT PAINT, TYPE P BEADS	Material			-625	\$0.08	(\$50.00)
	0190	WATERBOR	OW STANDARD INE PAVEMENT PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0008) due to user simst overridding Payment Estimate Exception 16 on the current Payment Estimate.	625	\$0.08	\$50.00
	0220	SEEDING -	COOL SEASON MIXTURES	Material			-0.32	\$8,000.00	(\$2,560.00)
	0220	SEEDING -	COOL SEASON MIXTURES	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0009) due to user simst overridding Payment Estimate Exception 35 on the current Payment Estimate.	0.32	\$8,000.00	\$2,560.00
	0280	MC	GS GUARDRAIL	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$833.00)
	0280	M	GS GUARDRAIL	Material			-75	\$19.50	(\$1,462.50
	0280	М	GS GUARDRAIL	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment Estimate Exception 12 on the current Payment Estimate.	75	\$19.50	\$1,462.50
	0290	TRANS	GE APPROACH ITION SECTION ILAR/NO CURB)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$6,148.00
	0300		RASHWORTHY RMINAL (MASH)	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$6,124.00
	0340		PROACH SLAB (MINOR ROAD)	Material			-127	\$90.00	(\$11,430.00
	0340		PROACH SLAB (MINOR ROAD)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0012) due to user simst overridding Payment Estimate Exception 4 on the current Payment Estimate.	127	\$90.00	\$11,430.00
	0370		S B CONCRETE BSTRUCTURE)	Material			-53.4	\$698.00	(\$37,273.20)
	0370		S B CONCRETE IBSTRUCTURE)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0015) due to user simst overridding Payment Estimate Exception 18 on the current Payment Estimate.	53.4	\$698.00	\$37,273.20
	0380	TY	PE D BARRIER	Material			-270	\$98.00	(\$26,460.00)
	0380	ΤY	'PE D BARRIER	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0013) due to user simst overridding Payment Estimate Exception 21 on the current Payment Estimate.	270	\$98.00	\$26,460.00
	0390	SLAB ON CO	NCRETE BEAM	Material		-	-409	\$314.00	(\$128,426.00)

Progress Estimate Number 7 Prime Contract ID				191213-C02 Don Schniec Inc.	ders Excavatir	ig Company, Pay Period End 2020	Original Contract Amount\$1,764,374.95 Net Change Order \$0.00 Amount \$0.00 Current Contract Amount \$1,764,374.95			
Project Number	Line No.	Item D	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
J3P3092	0390	SLAB ON CO	NCRETE BEAM	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0014) due to user simst overridding Payment Estimate Exception 25 on the current Payment Estimate.		\$314.00	\$128,426.00	
	0410	REINF	ORCING STEEL (BRIDGES)	Material			-4,620	\$1.70	(\$7,854.00)	
	0410	REINF	ORCING STEEL (BRIDGES)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0016) due to user simst overridding Payment Estimate Exception 30 on the current Payment Estimate.	4,620	\$1.70	\$7,854.00	
	0430		MISC.	Material			-1,400	\$4.60	(\$6,440.00)	
	0430		MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0017) due to user simst overridding Payment Estimate Exception 34 on the current Payment Estimate.		\$4.60	\$6,440.00	
Total									(\$16,094.51)	



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J3P3092	FAF 41-1(8)	Bridge replacement	41	SALINE	at Muddy Creek, 0.3 miles south of 330th Road						
J3S3091	FAS S301(87)	Bridge replacement	122	SALINE	at Muddy Creek, 0.5 miles east of 305th Road						

Totals by Job Numbers

23092	This Estimate	Previous	To Date	
Posted Item Pay	\$147,933.85	\$617,150.65	\$765,084.50	
Gross Item Adjustments	(\$16,094.51)	\$13,105.00	(\$2,989.51)	
Gross Item Pay	\$131,839.34	\$630,255.65	\$762,094.99	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damages	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
63091	This Estimate	Previous	To Date	
Dested Items Devi	\$7,600.00	\$0.00	\$7,600.00	
Posted Item Pay				
Gross Item Adjustments	\$0.00	\$163,596.85	\$163,596.85	
		\$163,596.85 \$163,596.85	\$163,596.85 \$171,196.85	
Gross Item Adjustments Gross Item Pay	\$0.00 \$7,600.00	\$163,596.85	\$171,196.85	
Gross Item Adjustments Gross Item Pay Incentive	\$0.00 \$7,600.00 \$0.00	\$163,596.85 \$0.00	\$171,196.85 \$0.00	
Gross Item Adjustments Gross Item Pay Incentive Disincentive	\$0.00 \$7,600.00 \$0.00 \$0.00	\$163,596.85 \$0.00 \$0.00	\$171,196.85 \$0.00 \$0.00	
Gross Item Adjustments Gross Item Pay Incentive	\$0.00 \$7,600.00 \$0.00	\$163,596.85 \$0.00	\$171,196.85 \$0.00	



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 2036000, Project Item Line Number 0040, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 2101006A, Project Item Line Number 0050, Material Set 2101006A96, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 3040143, Project Item Line Number 0060, Material Set 304014396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 6061060, Project Item Line Number 0280, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 6113020, Project Item Line Number 0080, Material Set 611302096, Material 0611EPM - Embankment Protection Material, Acceptance Action Generic 0611EPM is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 6206000C, Project Item Line Number 0180, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 6206000C, Project Item Line Number 0180, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 6206001C, Project Item Line Number 0190, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 6206001C, Project Item Line Number 0190, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7032003, Project Item Line Number 0370, Material Set 703200396, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7032003, Project Item Line Number 0370, Material Set 703200396, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7032003, Project Item Line Number 0370, Material Set 703200396, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034219A, Project Item Line Number 0380, Material Set 7034219A96, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034219A, Project Item Line Number 0380, Material Set 7034219A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034219A, Project Item Line Number 0380, Material Set 7034219A96, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034219A, Project Item Line Number 0380, Material Set 7034219A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance	Materials need updated in AWP.	SIMST	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Action Generic 0501CCB1.A is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034222, Project Item Line Number 0390, Material Set 703422296, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034222, Project Item Line Number 0390, Material Set 703422296, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034222, Project Item Line Number 0390, Material Set 703422296, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034222, Project Item Line Number 0390, Material Set 703422296, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7034222, Project Item Line Number 0390, Material Set 703422296, Material 1036RSDFPL42M25 - Reinforcing Steel No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7061060, Project Item Line Number 0410, Material Set 706106096, Material 1036RSDFPL42M22 - Reinforcing Steel No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7061060, Project Item Line Number 0410, Material Set 706106096, Material 1036RSDFPL42M25 - Reinforcing Steel No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7061060, Project Item Line Number 0410, Material Set 706106096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7061060, Project Item Line Number 0410, Material Set 706106096, Material 1036RSDFPL42M36 - Reinforcing Steel No. 11/M36 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 7129911, Project Item Line Number 0430, Material Set 712991196, Material 1080BRM - Bridge Material, Acceptance Action Generic 1080BRM is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 8051000A, Project Item Line Number 0220, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 8051000A, Project Item Line Number 0220, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 8051000A, Project Item Line Number 0220, Material Set 8051000A96, Material 0802MLSP - Overspray Slick Paper, Acceptance Action Generic 0802MLSP is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 8051000A, Project Item Line Number 0220, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Materials need updated in AWP.	SIMST	Overridden
Estimate Exception Type: Insufficient Materials: Project J3P3092, Item 8051000A, Project Item Line Number 0220, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	Materials need updated in AWP.	SIMST	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

	ted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.											
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-C02	J3P3092	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$1,160.00	\$1,160.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$13,225.00	\$13,225.00
		0001	0030	2031000	CLASS A EXCAVATION	749.00	0.00	749.00	CUYD	749.00	\$9.15	\$6,853.35
		0001	0040	2036000	COMPACTING EMBANKMENT	331.00	0.00	331.00	CUYD	331.00	\$6.00	\$1,986.00
		0001	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	4.00	0.00	4.00	100F	4.00	\$340.00	\$1,360.00
		0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	1,036.00	0.00	1,036.00	SQYD	1,036.00	\$8.80	\$9,116.80
		0001	0070	4019905	MISC.OPTIONAL PAVEMENT	1,036.30	0.00	1,036.30	SQYD	1,036.30	\$72.00	\$74,613.60
		0001	0080	6113020	FURNISHING TYPE 2 ROCK BLANKET	178.00	0.00	178.00	CUYD	178.00	\$48.20	\$8,579.60
		0001	0090	6113040	PLACING TYPE 2 ROCK BLANKET	178.00	0.00	178.00	CUYD	178.00	\$16.50	\$2,937.00
		0001	0100	6119907	MISC.FURNISHING TYPE 4 ROCK SLOPE PROTECTION	391.00	0.00	391.00	CUYD	304.00	\$48.70	\$14,804.80
		0001	0110	6119907	MISC.PLACING TYPE 4 ROCK SLOPE PROTECTION	391.00	0.00	391.00	CUYD	304.00	\$15.15	\$4,605.60
		0001	0120	6161005	CONSTRUCTION SIGNS	903.00	0.00	903.00	SQFT	900.00	\$8.00	\$7,200.00
		0001	0130	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$45.00	\$90.00
		0001	0140	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$15.00	\$30.00
		0001	0150	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	10.00	\$155.00	\$1,550.00
	0001	0001	0160	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,800.00	\$7,600.00
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$55,750.00	\$55,750.00
		0001	0180	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,000.00	0.00	1,000.00	LF	1,000.00	\$0.08	\$80.00
		0001	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	625.00	0.00	625.00	LF	625.00	\$0.08	\$50.00
		0001	0200	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	716.00	0.00	716.00	SQYD	274.00	\$3.10	\$849.40
		0001	0210	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$6,200.00	\$0.00
		0001	0220	8051000A	SEEDING - COOL SEASON MIXTURES	0.40	0.00	0.40	ACRE	0.32	\$8,000.00	\$2,560.00
		0001 0230	0230	8061005	ROCK DITCH CHECK	60.00	0.00	60.00	LF	60.00	\$20.00	\$1,200.00
		0001	0240	8061016	SEDIMENT REMOVAL TEMPORARY SEEDING AND MULCHING		0.00	16.00	CUYD	0.00	\$20.00	\$0.00
		0001	0250	8061017			0.00	0.30	ACRE	0.00	\$5,000.00	\$0.00
		0001	0260	8061019	SILT FENCE	824.00	0.00	824.00	LF	824.00	\$2.25	\$1,854.00
		0001	0270	8061050	TYPE C BERM	158.00	0.00	158.00	LF	0.00	\$15.00	\$0.00
		0010	0280	6061060	MGS GUARDRAIL	75.00	0.00	75.00	LF	75.00	\$19.50	\$1,462.50
		0010	0290	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,750.00	\$11,000.00
		0010	0300	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,750.00	\$11,000.00
		0040	0310	9039902	MISC.REMOVING AND REPLACING OF EXISTING SIGN ASSEMBLIES	2.00	0.00	2.00	EA	2.00	\$550.00	\$1,100.00
		0070	0320	2061000	CLASS 1 EXCAVATION	70.00	0.00	70.00	CUYD	70.00	\$42.00	\$2,940.00
		0070	0330	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$49,440.00	\$49,440.00
		0070	0340	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	127.00	0.00	127.00	SQYD	127.00	\$90.00	\$11,430.00
		0070	0350	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	1,657.00	0.00	1,657.00	LF	1,537.00	\$60.45	\$92,911.65
		0070	0360	7027000	PILE POINT REINFORCEMENT	22.00	0.00	22.00	EA	22.00	\$105.00	\$2,310.00
		0070	0370	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	53.40	0.00	53.40	CUYD	53.40	\$698.00	\$37,273.20
		0070	0380	7034219A	TYPE D BARRIER	270.00	0.00	270.00	LF	270.00	\$98.00	\$26,460.00
		0070	0390	7034222	SLAB ON CONCRETE BEAM	409.00	0.00	409.00	SQYD	409.00	\$314.00	\$128,426.00
		0070	0400	7056065	17 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	466.00	0.00	466.00	LF	466.00	\$307.00	\$143,062.00
		0070	0410	7061060	REINFORCING STEEL (BRIDGES)	4,620.00	0.00	4,620.00	LB	4,620.00	\$1.70	\$7,854.00
		0070	0420	7123610	SLAB DRAIN	20.00	0.00	20.00	EA	20.00	\$390.00	\$7,800.00
		0070	0430	7129911	MISC.GALVANIZED FABRICATED STRUCTURAL CARBON STEEL (MISC)	1,400.00	0.00	1,400.00	LB	1,400.00	\$4.60	\$6,440.00
		0070	0440	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Norme	Note: Posted Q	uantities	and Valu	es are b	based on R	eport Generated date and can differ from the posted am		e time the	e Estimate w	vas Gen	erated.		
			Category			Description	Bid Quantity	Change	Current	Unit	Posted Approved	Unit Price	To Date (See report
13389130813081308140814091	191213-C02	J3P3092	0070	0450	7161000	PLAIN NEOPRENE BEARING PAD	24.00	0.00	24.00	EA		\$130.00	\$3,120.00
10011101202010REMOVE OR INFERNMENTS110011001100110011001110		Project J	3P3092 - To	otal Value	e Posted to D	Date as of Report Generated Date							\$765,084.50
International (0)00		J3S3091	0001	0460	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	0.00	\$1,480.00	\$0.00
norm constraintsnorm constraintsnorm constraintsnorm 			0001	0470	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$11,800.00	\$0.00
end </td <td></td> <td></td> <td>0001</td> <td>0480</td> <td>2031000</td> <td>CLASS A EXCAVATION</td> <td>769.00</td> <td>0.00</td> <td>769.00</td> <td>CUYD</td> <td>0.00</td> <td>\$9.15</td> <td>\$0.00</td>			0001	0480	2031000	CLASS A EXCAVATION	769.00	0.00	769.00	CUYD	0.00	\$9.15	\$0.00
00001012101804MURINARI DEOPERATION (ARCH DEPTHY)61000200			0001	0490	2035500	EMBANKMENT IN PLACE	72.00	0.00	72.00	CUYD	0.00	\$30.00	\$0.00
900800180041000 100010008001 <t< td=""><td></td><td></td><td>0001</td><td>0500</td><td>2036000</td><td>COMPACTING EMBANKMENT</td><td>332.00</td><td>0.00</td><td>332.00</td><td>CUYD</td><td>0.00</td><td>\$6.00</td><td>\$0.00</td></t<>			0001	0500	2036000	COMPACTING EMBANKMENT	332.00	0.00	332.00	CUYD	0.00	\$6.00	\$0.00
601160281500MISC OPTIONAL PARAMENT515105151051500515005120051200512006011604615000F15000PREMISENS TYPE 2ROCK IS AMET24006002780CUT0500046465150060116026020615000F16007MSC-LUCING TYPE 2ROCK IS AMET27806002780CUT0500046405000601160061600CONSTRUCTION SERIE72006202780CUT0500046405000601160061600CONSTRUCTION SERIE720720720620460046005000601160061600CONSTRUCTION SERIE SUTE72072			0001	0510	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	6.00	0.00	6.00	100F	0.00	\$340.00	\$0.00
001164001302PARIMENT TYPE 2 ROCK BLANKET24406402440C/U0.0034440.0000011600611900PADING TYPE 2 ROCK BLANKET27400.002740C/U0.0031986319000011600611900MGC JUNISHING TYPE 4 ROCK SLOPE PROTECTION27800.002780C/U0.00318031000001160016100MGC JUNISHING TYPE 4 ROCK SLOPE PROTECTION27800.002780C/U0.00318031000001160016100MGC JUNISHING TYPE 4 ROCK SLOPE PROTECTION27800.002780C/U0.00318031000001160016100MGC JUNISHING TYPE 3 ROCK SLOPE PROTECTION2700C/U1.006103100310031000001160016100MGC JUNISHING TYPE 3 ROCK SLOPE PROTECTION2700C/UC/U310003100031000001160016100MGC JUNISHING TYPE 3 ROCK SLOPE PROTECTION100C/UC/U310003100031000001160016100MGC JUNISHING TYPE 3 ROCK SLOPE PROTECTION100C/U10010010003100031000001160016100MGC JUNISHING TYPE A ROCK SLOPE PROTECTION1000.0010001			0001	0520	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	1,531.00	0.00	1,531.00	SQYD	0.00	\$7.75	\$0.00
001100201300013000			0001	0530	4019905	MISC.OPTIONAL PAVEMENT	1,531.00	0.00	1,531.00	SQYD	0.00	\$72.00	\$0.00
10000600119007MISC PLANNETHPE ARCK SLOPE PROTECTION27800.000277000.000 <t< td=""><td></td><td></td><td>0001</td><td>0540</td><td>6113020</td><td>FURNISHING TYPE 2 ROCK BLANKET</td><td>234.00</td><td>0.00</td><td>234.00</td><td>CUYD</td><td>0.00</td><td>\$44.90</td><td>\$0.00</td></t<>			0001	0540	6113020	FURNISHING TYPE 2 ROCK BLANKET	234.00	0.00	234.00	CUYD	0.00	\$44.90	\$0.00
10006001019000MISCPLACING TYPE 4 ROCK BLOPE PROTECTION274.00274.00274.00274.00204.00204.00100160016100ADVANCED VARING RALLSYSTEM2.00100100.0016			0001	0550	6113040	PLACING TYPE 2 ROCK BLANKET	234.00	0.00	234.00	CUYD	0.00	\$12.65	\$0.00
00010500051000CONSTRUCTION SIGNS177.0017.000.00177.000.000.000.000.000.000			0001	0560	6119907	MISC.FURNISHING TYPE 4 ROCK SLOPE PROTECTION	278.00	0.00	278.00	CUYD	0.00	\$49.55	\$0.00
0001090091000ADVANCED WARNING PALL SYSTEM2.000.0			0001	0570	6119907	MISC.PLACING TYPE 4 ROCK SLOPE PROTECTION	278.00	0.00	278.00	CUYD	0.00	\$16.00	\$0.00
0011000640100FLAG ASSEMBLY200 <t< td=""><td></td><td></td><td>0001</td><td>0580</td><td>6161005</td><td>CONSTRUCTION SIGNS</td><td>173.00</td><td>0.00</td><td>173.00</td><td>SQFT</td><td>0.00</td><td>\$8.00</td><td>\$0.00</td></t<>			0001	0580	6161005	CONSTRUCTION SIGNS	173.00	0.00	173.00	SQFT	0.00	\$8.00	\$0.00
0011010101010101010001			0001	0590	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	0.00	\$45.00	\$0.00
No. CONTNORDCHANCEABLE MESSAGE SIGN WITHOUT COMMUNICATION RETERPOS2.000.002.002.002.002.005.3,00.005.7,00.0000010606100MOBILZATION1.001.000.001.000.00 </td <td></td> <td></td> <td>0001</td> <td>0600</td> <td>6161009</td> <td>FLAG ASSEMBLY</td> <td>2.00</td> <td>0.00</td> <td>2.00</td> <td>EA</td> <td>0.00</td> <td>\$15.00</td> <td>\$0.00</td>			0001	0600	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	0.00	\$15.00	\$0.00
InterpretacionInterp			0001	0610	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	10.00	0.00	10.00	EA	0.00	\$155.00	\$0.00
0001083008300810000081000000NUMERCATION1.000			0001	0620	6161098A	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	2.00	0.00	2.00	EA	2.00	\$3,800.00	\$7,600.00
PAINT, TYPE P BEADSPAINT, TYPE P BEADSPAINT, TYPE P BEADSPAINT, TYPE P BEADSPAINT, PAINT, PAINDARD WART, REBRORIE P AVELINATPAINDPAINT, PAINT, PAINDARD WART, REBRORIE P AVELINATPAINDPAINDPAINDARDPAINDARDPAINT, PAINDARD WART, PAINDARD WART, PAINT, PAIN			0001	0630	6181000		1.00	0.00	1.00	LS	0.00	\$55,750.00	\$0.00
00010808620800C1. VILLOW STANADAD WATERBORNE PAYEMENT1.70000.001.70000.1F0.00			0001	0640	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	1,700.00	0.00	1,700.00	LF	0.00	\$0.08	\$0.00
00010800240103PERMANENT EROSION CONTROL GEOTEXTILE705.000.000706.00706.0050.0050.0053.1053.1053.10000108016274000CONTRACTOR FURNISHED SURVEYING AND STAKING10.00.0010.00 </td <td></td> <td></td> <td>0001</td> <td>0650</td> <td>6206001C</td> <td>4 IN. YELLOW STANDARD WATERBORNE PAVEMENT</td> <td>1,700.00</td> <td>0.00</td> <td>1,700.00</td> <td>LF</td> <td>0.00</td> <td>\$0.08</td> <td>\$0.00</td>			0001	0650	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	1,700.00	0.00	1,700.00	LF	0.00	\$0.08	\$0.00
Norm 100067706274000CONTRACTOR FURNISHED SURVEYING AND STAKING1000.001001.00 </td <td></td> <td></td> <td>0001</td> <td>0660</td> <td>62401034</td> <td></td> <td>705.00</td> <td>0.00</td> <td>705.00</td> <td>SOVD</td> <td>0.00</td> <td>\$3.10</td> <td>\$0.00</td>			0001	0660	62401034		705.00	0.00	705.00	SOVD	0.00	\$3.10	\$0.00
Interview Interview <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>													
Actor 000106600601005ROCK DITCH CHECK20.000.0020.00I.00.000.													
Index													
Note Note <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>													
NormNo													
NormNo													
No.Output </td <td></td>													
NoteNo													
No. Or													
International and antipole Regularino Curbs) Regularino Curbs) Regularino Curbs RegularinoCurbs Regularin Curbs Regular													
OCI OCI <td></td> <td></td> <td>0010</td> <td>0760</td> <td>6061069</td> <td></td> <td>3.00</td> <td>0.00</td> <td>3.00</td> <td>EA</td> <td>0.00</td> <td>\$2,750.00</td> <td>\$0.00</td>			0010	0760	6061069		3.00	0.00	3.00	EA	0.00	\$2,750.00	\$0.00
Octo Station Octo Station Octo Station Octo Station			0010	0770	6062100	BRIDGE ANCHOR SECTION (CURB TYPE)	1.00	0.00	1.00	EA	0.00	\$2,750.00	\$0.00
No. No. <td></td> <td></td> <td>0010</td> <td>0780</td> <td>6062303</td> <td>ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS</td> <td>1.00</td> <td>0.00</td> <td>1.00</td> <td>EA</td> <td>0.00</td> <td>\$550.00</td> <td>\$0.00</td>			0010	0780	6062303	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	1.00	0.00	1.00	EA	0.00	\$550.00	\$0.00
No. No. <td></td> <td></td> <td>0010</td> <td>0790</td> <td>6063014</td> <td>TYPE A CRASHWORTHY END TERMINAL (MASH)</td> <td>3.00</td> <td>0.00</td> <td>3.00</td> <td>EA</td> <td>0.00</td> <td>\$2,750.00</td> <td>\$0.00</td>			0010	0790	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	3.00	0.00	3.00	EA	0.00	\$2,750.00	\$0.00
No. No. <td></td> <td></td> <td>0010</td> <td>0800</td> <td>6066610</td> <td>END ANCHOR</td> <td>1.00</td> <td>0.00</td> <td>1.00</td> <td>EA</td> <td>0.00</td> <td>\$1,050.00</td> <td>\$0.00</td>			0010	0800	6066610	END ANCHOR	1.00	0.00	1.00	EA	0.00	\$1,050.00	\$0.00
No. No. Solution BRIDGE APPROACH SLAB (MINOR ROAD) 109.0 0.00 109.00 SQP 0.00 S92.45 S03.00 0070 0840 7021212 GALVANIZED STRUCTURAL STEEL PILES (12 IN) 2,116.00 0.00 2,116.00 LF 0.00 \$61.45 \$0.00 0070 0850 7025001 DYNAMIC PILE TESTING 4.00 0.00 4.00 EA 0.00 \$70.00 \$80.00 0070 0860 7027000 PILE POINT REINFORCEMENT 200 0.00 20.00 EA 0.00 \$100.00			0070	0810	2061000	CLASS 1 EXCAVATION	60.00	0.00	60.00	CUYD	0.00	\$49.00	\$0.00
1000 080 7021212 GALVANIZED STRUCTURAL STEEL PILES (12 IN) 2,116.00 0.00 2,116.00 LF 0.00 \$61.45 \$60.00 0070 0850 7025001 DYNAMIC PILE TESTING 4.00 0.00 4.00 EA 0.00 \$70.00 \$70.00 \$0.00 \$0.00 1000 EA 0.00 \$105.00 \$0.0			0070	0820	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	0.00	\$37,700.00	\$0.00
1000 1000 <th< td=""><td></td><td></td><td>0070</td><td>0830</td><td>5031011A</td><td>BRIDGE APPROACH SLAB (MINOR ROAD)</td><td>109.00</td><td>0.00</td><td>109.00</td><td>SQYD</td><td>0.00</td><td>\$92.45</td><td>\$0.00</td></th<>			0070	0830	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	109.00	0.00	109.00	SQYD	0.00	\$92.45	\$0.00
0070 0860 7027000 PILE POINT REINFORCEMENT 20.00 0.00 20.00 EA 0.00 \$105.00 \$0.00<			0070	0840	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	2,116.00	0.00	2,116.00	LF	0.00	\$61.45	\$0.00
			0070	0850	0 7025001 DYNAMIC PILE TESTING		4.00	0.00	4.00	EA	0.00	\$700.00	\$0.00
0070 0870 7032003 CLASS B CONCRETE (SUBSTRUCTURE) 38.20 0.00 38.20 CUYD 0.00 \$918.00 \$0.00			0070	0860	7027000	PILE POINT REINFORCEMENT	20.00	0.00	20.00	EA	0.00	\$105.00	\$0.00
			0070	0870	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	38.20	0.00	38.20	CUYD	0.00	\$918.00	\$0.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-C02	J3S3091	0070	0880	7034219A	TYPE D BARRIER	469.00	0.00	469.00	LF	0.00	\$87.00	\$0.00
		0070	0890	7034222	SLAB ON CONCRETE BEAM	644.00	0.00	644.00	SQYD	0.00	\$290.00	\$0.00
		0070	0900	7056050A	27 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	643.00	0.00	643.00	LF	0.00	\$320.00	\$0.00
		0070	0910	7061060	REINFORCING STEEL (BRIDGES)	3,090.00	0.00	3,090.00	LB	0.00	\$1.90	\$0.00
		0070	0920	7123610	SLAB DRAIN	42.00	0.00	42.00	EA	0.00	\$395.00	\$0.00
		0070	0930	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.00
		0070	0940	7161000	PLAIN NEOPRENE BEARING PAD	18.00	0.00	18.00	EA	0.00	\$140.00	\$0.00
	Project J	3S3091 - To	otal Value	Posted to D	ate as of Report Generated Date							\$7,600.00
191213-C02 Ove	91213-C02 Overall - Total Value Posted to Date as of Report Generated Date											



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J3P3092	
------------------	--

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2013000	CLEARING AND GRUBBING	6/30/20	7/1/20	1.00	ACRE	rte 41	213+50		218+50		
0020	2022010	REMOVAL OF IMPROVEMENTS	6/30/20	7/1/20	0.20	LS	RTE 41	213+50				
0030	2031000	CLASS A EXCAVATION	6/30/20	7/1/20	749.00	CUYD	RTE 41	213+50		218+50		
0040	2036000	COMPACTING EMBANKMENT	6/30/20	7/1/20	331.00	CUYD	rte 41	213+50		218+50		
0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	6/30/20	7/1/20	4.00	100F	rte 41	213+50		218+50		
0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	6/30/20	7/1/20	1,036.00	SQYD	rte 41	213+50		218+50		
0070	4019905	MISC.	6/30/20	7/1/20	1,036.30	SQYD	RTE 41	213+50		218+50		
0080	6113020	FURNISHING TYPE 2 ROCK BLANKET	6/30/20	7/1/20	178.00	CUYD	rte 41	215+50		216+64		
0090	6113040	PLACING TYPE 2 ROCK BLANKET	6/30/20	7/1/20	178.00	CUYD	rte 41	215+50		216+64		
0180	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/30/20	7/1/20	1,000.00	LF	rte 41	213+50		218+50		
0190	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/30/20	7/1/20	625.00	LF	rte 41	213+50		218+50		
0220	8051000A	SEEDING - COOL SEASON MIXTURES	6/30/20	7/1/20	0.32	ACRE	rte 41	213+50		218+50		80% pay until seed growth expectable.
0280	6061060	MGS GUARDRAIL	6/30/20	7/1/20	75.00	LF	rte 41	216+34		213+96		
0290	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	6/30/20	7/1/20	4.00	EA	rte 41	215+50		216+36		
0300	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	6/30/20	7/1/20	4.00	EA	rte 41	213+96		217+58		
0310	9039902	MISC.	6/30/20	7/1/20	2.00	EA	rte 41	215+15		213+63		
0340	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	6/30/20	7/1/20	127.00	SQYD	RTE 41	214+96		216+55		

Project: J3S3091

Line Number	Item Code	Description		DWR Approval Date		Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0620	6161098A	CMS W/O COMMUNICATION INTERFACE. CONT F/	6/30/20	7/1/20	2 00	FA	rte 122					

The information below this line are details from Line Item agency views. No Agency View Details Exist



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
LINE	Description	Туре	Adjustment Type	Number	Date	By	Amount	IVEIDAINS
0040	COMPACTING EMBANKMENT	Material		7	Jul 1, 2020	SYSTEM	(\$1,986.00)	
				7	Jul 1, 2020	SYSTEM	\$1,986.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user simst overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0040 -	Total						\$0.00	
0050	SUBGRADE COMPACTION (6- INCH DEPTH)	Material		7	Jul 1, 2020	SYSTEM	(\$1,360.00)	
				7	Jul 1, 2020	SYSTEM	\$1,360.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user simst overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0050 -	Total						\$0.00	
0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		7	Jul 1, 2020	SYSTEM	(\$9,116.80)	
				7	Jul 1, 2020	SYSTEM	\$9,116.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user simst overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0060 -	Total						\$0.00	
0070	MISC. OPTIONAL PAVEMENT	Other Item Adjustment	ACAD	7	Jul 1, 2020	SIMST	(\$1,059.60)	BB20-13 = -56.25x470.2x3.2%=\$-846.40 BP20-39 = -56.25x99.74x3.8%=\$-213.20
			ACAD - Tota	al			(\$1,059.60)	
	MISC. OPTIONAL PAVEMENT		FUEL		Jul 1, 2020	SIMST		3.32x-1.02x569.9=\$-1929.91
			FUEL - Tota	il			(\$1,929.91)	
	Other Item Adjustment - Total						(\$2,989.51)	
0070 -							(\$2,989.51)	
0800	FURNISHING TYPE 2 ROCK BLANKET	Material		7	Jul 1, 2020 Jul 1,	SYSTEM	(\$8,579.60)	This adjustment offsets the original system-generated Overrun Payment
				7	2020	STOTEM	\$8,579.60	Estimate Item Adjustment (0006) due to user simst overridding Payment Estimate Exception 13 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0080 -	Total						\$0.00	
0180	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Material		7	Jul 1, 2020	SYSTEM	(\$80.00)	
	BEADS			7	Jul 1, 2020	SYSTEM	\$80.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user simst overridding Payment Estimate Exception 14 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0180 -	Total						\$0.00	
0190	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Material		7	Jul 1, 2020	SYSTEM	(\$50.00)	
				7	Jul 1, 2020	SYSTEM	\$50.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user simst overridding Payment Estimate Exception 16 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0190 -							\$0.00	
0200	PERMANENT EROSION CONTROL GEOTEXTILE	Material		4	May 19, 2020	SYSTEM	(\$849.40)	
				4	May 19, 2020	SYSTEM	\$849.40	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment Estimate Exception 1 on the current Payment Estimate.



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0200		Material	- Total				\$0.00	
	Material - Total						\$0.00	
0200 -	Total						\$0.00	
0220	SEEDING - COOL SEASON MIXTURES	Material		7	Jul 1, 2020	SYSTEM	(\$2,560.00)	
				7	Jul 1, 2020	SYSTEM	\$2,560.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user simst overridding Payment Estimate Exception 35 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0220 -	Total						\$0.00	
0230	ROCK DITCH CHECK	Material		1	Apr 1, 2020	SYSTEM	(\$1,200.00)	
				1	Apr 1, 2020	SYSTEM	\$1,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user simst overridding Payment Estimate Exception 1 on the current Payment Estimate.
				2	Apr 16, 2020	SYSTEM	(\$1,200.00)	
				2	Apr 16, 2020	SYSTEM	\$1,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment Estimate Exception 3 on the current Payment Estimate.
				3	May 4, 2020	SYSTEM	(\$1,200.00)	
				3	May 4, 2020	SYSTEM	\$1,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user simst overridding Payment Estimate Exception 2 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$1,200.00)	
				4	May 19, 2020	SYSTEM	\$1,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user simst overridding Payment Estimate Exception 10 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
)230 -	Total						\$0.00	
0260	SILT FENCE	Material		1	Apr 1, 2020	SYSTEM	(\$1,854.00)	
				1	Apr 1, 2020	SYSTEM	\$1,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment Estimate Exception 2 on the current Payment Estimate.
				2	Apr 16, 2020	SYSTEM	(\$1,854.00)	
				2	Apr 16, 2020	SYSTEM	\$1,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user simst overridding Payment Estimate Exception 4 on the current Payment Estimate.
				3	May 4, 2020	SYSTEM	(\$1,854.00)	
				3	May 4, 2020	SYSTEM	\$1,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment Estimate Exception 3 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$1,854.00)	
				4	May 19, 2020	SYSTEM	\$1,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user simst overridding Payment Estimate Exception 11 on the current Payment Estimate.
		- Total				\$0.00		
	Material - Total						\$0.00	
260 -	Total						\$0.00	
)280	MGS GUARDRAIL	Construction Stockpile		4	May 19, 2020	SYSTEM	\$833.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				7	Jul 1, 2020	SYSTEM	(\$833.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		- Total				\$0.00		



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks		
		Туре	Adjustment Type	Number	Date	Ву				
0280	MGS GUARDRAIL	Material		7	Jul 1, 2020	SYSTEM	(\$1,462.50)			
				7	Jul 1, 2020	SYSTEM	\$1,462.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment Estimate Exception 12 on the current Payment Estimate.		
			- Total				\$0.00			
	Material - Total						\$0.00			
0280 -	Total						\$0.00			
0290	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		4	May 19, 2020	SYSTEM	\$6,148.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
	(REGULARINO CORB)			7	Jul 1, 2020	SYSTEM	(\$6,148.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
			- Total				\$0.00			
	Construction Stockpile - Total						\$0.00			
290 -	Total						\$0.00			
0300	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		4	May 19, 2020	SYSTEM	\$6,124.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
				7	Jul 1, 2020	SYSTEM	(\$6,124.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
			- Total				\$0.00			
	Construction Stockpile - Total						\$0.00			
)300 -	Total		_				\$0.00			
0340	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		7	Jul 1, 2020	SYSTEM	(\$11,430.00)			
				7	Jul 1, 2020	SYSTEM	\$11,430.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user simst overridding Payment Estimate Exception 4 on the current Payment Estimate.		
			- Total				\$0.00			
	Material - Total						\$0.00			
)340 -	Total						\$0.00			
0350	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Material	Material	Material		2	Apr 16, 2020	SYSTEM	(\$34,843.98)	
				2	Apr 16, 2020	SYSTEM	\$34,843.98	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user simst overridding Payment Estimate Exception 1 on the current Payment Estimate.		
			- Total				\$0.00			
	Material - Total						\$0.00			
)350 -	Total						\$0.00			
0360	PILE POINT REINFORCEMENT	Material		2	Apr 16, 2020	SYSTEM	(\$945.00)			
				2	Apr 16, 2020	SYSTEM	\$945.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user simst overridding Payment Estimate Exception 2 on the current Payment Estimate.		
			- Total				\$0.00			
	Material - Total						\$0.00			
0360 -	Total						\$0.00			
0370	CLASS B CONCRETE (SUBSTRUCTURE)	Material		4	May 19, 2020	SYSTEM	(\$37,273.20)			
				4	May 19, 2020	SYSTEM	\$37,273.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user simst overridding Payment Estimate Exception 2 on the current Payment Estimate.		
				5	Jun 2, 2020	SYSTEM	(\$37,273.20)			
				5	Jun 2, 2020	SYSTEM	\$37,273.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user simst overridding Payment Estimate Exception 1 on the current Payment Estimate.		
				6	Jun 16, 2020	SYSTEM	(\$37,273.20)			
				6	Jun 16, 2020	SYSTEM	\$37,273.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user simulations overridding Payment		
								Estimate Exception 1 on the current Payment Estimate.		



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
0370	CLASS B CONCRETE	Material			2020				
	(SUBSTRUCTURE)			7	Jul 1, 2020	SYSTEM	\$37,273.20	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user simst overridding Payment Estimate Exception 18 on the current Payment Estimate.	
			- Total				\$0.00		
	Material - Total						\$0.00		
0370 -	- Total						\$0.00		
0380	TYPE D BARRIER	Material		6	Jun 16, 2020	SYSTEM	(\$26,460.00)		
				6	Jun 16, 2020	SYSTEM	\$26,460.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment Estimate Exception 6 on the current Payment Estimate.	
				7	Jul 1, 2020	SYSTEM	(\$26,460.00)		
				7	Jul 1, 2020	SYSTEM	\$26,460.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user simst overridding Payment Estimate Exception 21 on the current Payment Estimate.	
			- Total				\$0.00		
	Material - Total						\$0.00		
0380	- Total						\$0.00		
0390	SLAB ON CONCRETE BEAM	Construction Stockpile		2	Apr 16, 2020	SYSTEM	\$19,054.75	Payment Estimate Item Adjustment generated Stockpile Transaction	
				5	Jun 2, 2020	SYSTEM	(\$19,054.75)	Payment Estimate Item Adjustment generated Stockpile Transaction	
			- Total				\$0.00		
	Construction Stockpile - Total						\$0.00		
	SLAB ON CONCRETE BEAM	Material		5	Jun 2, 2020	SYSTEM	(\$57,776.00)		
				5	Jun 2, 2020	SYSTEM	\$57,776.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user simst overridding Payment	
				6	Jun 16, 2020	SYSTEM	(\$128,426.00)	Estimate Exception 4 on the current Payment Estimate.	
				6	Jun 16, 2020	SYSTEM	\$128,426.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user simst overridding Payment Estimate Exception 8 on the current Payment Estimate.	
				7	Jul 1, 2020	SYSTEM	(\$128,426.00)		
				7	Jul 1, 2020	SYSTEM	\$128,426.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user simst overridding Payment Estimate Exception 25 on the current Payment Estimate.	
			- Total				\$0.00		
	Material - Total						\$0.00		
0390	- Total						\$0.00		
0400	17 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	Construction Stockpile		2	Apr 16, 2020	SYSTEM	\$103,505.20	Payment Estimate Item Adjustment generated Stockpile Transaction	
				5	Jun 2, 2020	SYSTEM	(\$103,505.20)	Payment Estimate Item Adjustment generated Stockpile Transaction	
			- Total				\$0.00		
	Construction Stockpile - Total						\$0.00		
0 <u>40</u> 0 -	- Total						\$0.00		
0410	REINFORCING STEEL (BRIDGES)	Material		4	May 19, 2020	SYSTEM	(\$7,854.00)		
				4	May 19, 2020	SYSTEM	\$7,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user simst overridding Payment Estimate Exception 5 on the current Payment Estimate.	
				5	Jun 2, 2020	SYSTEM	(\$7,854.00)		
					5	Jun 2, 2020	SYSTEM	\$7,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user simst overridding Payment Estimate Exception 9 on the current Payment Estimate.
				6	Jun 16,	SYSTEM	(\$7,854.00)		



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0410	REINFORCING STEEL (BRIDGES)	Material		6	Jun 16, 2020	SYSTEM	\$7,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user simst overridding Payment Estimate Exception 13 on the current Payment Estimate.
				7	Jul 1, 2020	SYSTEM	(\$7,854.00)	
				7	Jul 1, 2020	SYSTEM	\$7,854.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user simst overridding Payment Estimate Exception 30 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0410 -	Total						\$0.00	
0430	MISC. GALVANIZED FABRICATED STRUCTURAL CARBON STEEL (MISC)	Material		3	May 4, 2020	SYSTEM	(\$6,440.00)	
				3	May 4, 2020	SYSTEM	\$6,440.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user simst overridding Payment Estimate Exception 1 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$6,440.00)	
				4	May 19, 2020	SYSTEM	\$6,440.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user simst overridding Payment Estimate Exception 9 on the current Payment Estimate.
				5	Jun 2, 2020	SYSTEM	(\$6,440.00)	
				5	Jun 2, 2020	SYSTEM	\$6,440.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user simst overridding Payment Estimate Exception 13 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$6,440.00)	
				6	Jun 16, 2020	SYSTEM	\$6,440.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user simst overridding Payment Estimate Exception 17 on the current Payment Estimate.
				7	Jul 1, 2020	SYSTEM	(\$6,440.00)	
				7	Jul 1, 2020	SYSTEM	\$6,440.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user simst overridding Payment Estimate Exception 34 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0430 -	Total						\$0.00	
0740	GUARDRAIL TYPE A	Construction Stockpile		4	May 19, 2020	SYSTEM	\$426.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$426.00	
	Construction Stockpile - Total						\$426.00	
0740 -	Total						\$426.00	
0750	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		4	May 19, 2020	SYSTEM	\$1,622.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$1,622.00	
	Construction Stockpile - Total						\$1,622.00	
0750 -	Total						\$1,622.00	
0760	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		4	May 19, 2020	SYSTEM	\$4,611.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$4,611.00	
	Construction Stockpile - Total						\$4,611.00	
0760 -						a	\$4,611.00	
0770	BRIDGE ANCHOR SECTION (CURB TYPE)			4	May 19, 2020	SYSTEM	\$1,045.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$1,045.00	
0750	Construction Stockpile - Total						\$1,045.00	
0770 -		Construction		4	May: 10	CVCTEN4	\$1,045.00	Doumont Estimate Item Adjustment generated Stackville Transpotier
0780	ASYMMETRICAL TRANSITION SECTION, 6.5 FT. POSTS	Construction Stockpile		4	May 19, 2020	SYSTEM	\$147.00	Payment Estimate Item Adjustment generated Stockpile Transaction



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0780		Construction Stockpile	- Total				\$147.00	
	Construction Stockpile - Total						\$147.00	
0780 -	Total						\$147.00	
0790	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		4	May 19, 2020	SYSTEM	\$4,593.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$4,593.00	
	Construction Stockpile - Total						\$4,593.00	
0790 -	Total						\$4,593.00	
0800	END ANCHOR	Construction Stockpile		4	May 19, 2020	SYSTEM	\$494.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$494.00	
	Construction Stockpile - Total						\$494.00	
0800 -	Total						\$494.00	
0900	27 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	Construction Stockpile		4	May 19, 2020	SYSTEM	\$150,658.85	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$150,658.85	
	Construction Stockpile - Total						\$150,658.85	
0900 -	Total						\$150,658.85	
Overa	Overall - Total						\$160,607.34	